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QUESTION 1

Which three statements are true regarding PeopleCert user-defined variables? (Select three.) 

A. Explicitly declaring object type variables provides no benefit over allowing them to be auto-declared 

B. All local variables must be declared at the beginning of the program 

C. Local variables can be declared and instantiated in a single statement 

D. All component variables must be declared before the first line of executable code 

E. Local variables can be declared and assigned in a single statement 

F. All variables of type Any must be explicitly declared 

Correct Answer: D 

 

QUESTION 2

Select three changes to a record definition that require you to rebuild the SQL table. (Choose three.) 

A. You change an ascending key to a descending key 

B. You deselect the Alternate Search Key check box 

C. You change the length of a non-key field 

D. You deselect the Search Key check box (only) for a field 

E. You change the label of a key field 

Correct Answer: ACD 

 

 

QUESTION 3

You have been asked to create a new record for student suggestion review, which includes a field for implemented Flag,
which will be a check box on the page. Before creating a new field, you look for an existing field to reuse. 
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FLAG, as shown in the exhibit, is a PeopleSoft delivered field. You can use this field if which statement is true? 

A. The field only requires adding translate values 

B. The field only requires modifying it to be a Y/N table 

C. The field only requires modifying the field format 

D. The field does not require any modifications 

E. The field only requires an additional field label 

Correct Answer: E 

 

QUESTION 4

Examine the following code: 

Which two statements are correct? (Choose two.) 

A. ABSENCE_SQL contains an INSERT clause 

B. ABSENCE_SQL contains a DELETE clause 

C. ABSENCE_SQL is a SQL object 
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D. ABSENCE_SQL is a SQL definition name 

E. ABSENCE_SQL contains a SELECT clause 

F. ABSENCE_SQL is a SQL method 

Correct Answer: EF 

 

QUESTION 5

This exhibit shows the Structure tab of the component definition. 

The following PeopleCode program has been placed on the RowInit event for the Level 2 component record
(PSU_TASK_EFFORT) 

Which three changes are required to move this program to the RowInit event for the Level 1 component record
(PSU_TASK_RSRC)? (Choose three.) 

A. Add an outer loop to loop through each row in the level 2 rowset 

B. Instantiate the level 2 rowset from the level 1 row 

C. Add on outer loop to loop through each record in the level 2 rowset 

D. Instantiate the level 1 row 
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E. For each level 2 row, instantiate a record object 

F. Instantiate a record object for the level 1 row 

Correct Answer: BCF 
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